Pgiﬁh’géﬂ clags - X (Maths) . SesstoN - (2023-24)

Q) p and Q ave two positive (ntegre Auch Hhat P= }:»Bq/
and Q =(pg )" where p and 9, a¥e prime numbers,
£ind the LeM (P, &) and HCF (P &) .

2> 14 D(a = 186 aud HCF(X, ) =3 then {ind the LCM ('X/al)‘

(3 Find +he sum of exponents of prime factoys |n +he
prime factorication o 196 .

(A1) Find the LCM o cmallest two oﬂaft com{oosh’:q humber
and c¢mallest C,Dmlvogﬁ{‘o. number . )

(5) The HcE and LcM of two numbers are g and 360
)’eSﬁecJ:y'va,% . T4 one or%umber TR 45,—fincf Hhe Other number,

(6> Explatn uwhether 3 x(2x [0l +4 ‘b o prime numbey oy a

Composte numbey .
(B> Find +he HeF and LM of Go and 144 By he method of

prime Jactoyisation |
(%) check Whether L,h can onds w4 +Hhe A.La/(,e- 0 oy qy]d,

n . .
natural number it Q)(/aYESSe,a' '\ the fovm 058

gy Tf HCF of I4
S 13m — 16, $ind the vOiu:LOfm.

(16) Show +al 203 +F 4 an lf'fmff'm?af humbey
(1) Prows thot 2-[3 U v vatibmaf given thed- 3 U ir-vod jena] .
(12> Prowe ol 2433 i rational .

U2 Find e zemef of the }pez%mom',oj IEXL—X~6 awnd VeY:fd— Hie
m{’,a{-}cnslx,\% 2

(14) Find +he zevoel + 58 x2'+30')( + 8J5 ,

c15) Find a c]wa_al\—a%:}c Pe«%nom’ya,f Wheye Zevped are 5-3(3

and 5+3(Z . ,
£iad a 7ww)va+}c P nomrazp,%e Sum awd produ et

Whose zeyoed dye (-3) and 2 yespectiv ]
(1) If one zevo of +he quadvat ' 2 -,

then f£ind +he V“L*‘Lc,‘?f kw,l N P&%LMWJ AR o
(B Tf x and P are the zemed of the F@*@‘”omwfﬂ /’c%):lnfﬂx-t

then Find the value of L4 "f;‘
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G ”‘_rat one Zevo of +he fwgnom'yaf PC'X):’-(Q%’.L,))(Z..I.[ZX +4a

1 veciprocal of the other , then Find the value of a

(20) I—:)c 0{ ql'kd P aye "HIQ ZQXDQA C_ﬁ “lQ #ogz7no,”;0‘j k(){ - -—7‘2"{"
)——2—% 3/

@I 14 o aud P ave zevoes ef the Pafgnom}ay 3 2% 7 ,
Hhen fimd +he value % + &E . |
(22 If o« and P are +the zevoes of the Fe%morﬁloJ }»m:x%-}ox—(}wd/
then £ind the value of (ot41) (P +1).
sz) Foy u‘}‘fud' vCJue_ )( Hhe (,U'Y L,uk{,‘l‘cms
X —2Y =73 qb\ic:’ _.'31 .fkg/:b}{_c’@ﬂ«p,qve l;’?:ffm,{:z/%é manﬁé selns
(24) For What value of m aud n the fomwr‘ﬁ systew of- L)
equat;'ms Aave nftnit many seludktons)
3?(-%4&2 |2 ,avwf (M +n) W+ 2(m~h)5L =5m-1,
(25) Solve éwavb‘ﬁ"muat the paiv of dinear ufua%r'ms
' 3L —4y—+3 =0 and Bz 44y —21 =0 .
Find the co-ovdinatec e vertrces of e +ytaneulay o
Formed Eac Hese ijnesc\ﬁm/ X-axis . Also caleulate +he :jeq
of ‘his triaugle - ' ,
(26) Selve the Follo®ivg paiv o Jdinear equatons Aab.ﬁ'u,’:s‘lri‘{:ui'/m
mesthod , 3x+zaL—7:O and ‘fx‘*@t'é:o-
2% Seven times a two ouaz(/{‘ & numbey 44 th,uo? to acOL'!Y times
( the number obtatned 1:7 r@,vexSf'Vﬁ e order &f ks ollﬁf(?S,
1§ +he dfference Oj; +he cﬁi@,d’s L 3B determine the number,

(2% In +he 5[\/% :fl'ﬁum ABCD 14 q [A Xty 5]

vieqy

‘Yecfam,gXO., Find +he Va,oue,oaﬂ X qy]al&; ' Hem X

b —35cm c
29) Seven times a tuo digit : Q —
. +he numbey obtained e s 7 to four +imes

If +the difference of *H\:}# reversiy he order of ik i‘lﬁ”’]'

' ‘ dla‘rts i473B Find ‘e numbey
(30 In the given —fwure, ABCD 44 a

‘ A
pentagon wivh BE ] cp and B¢

BC 14 perpendieuday ¢ c(;,), I E . B

AE = AB = 5cm, BE =% am, BC = X E
and CD = X+if. TJ— ‘Hhe perimetey a:—,ﬁ L 7
ABCD B 27 cm, find the vafue of and . € —Jp




ased Questioms

Case B
(L> Tohn and Jivant’ ave &N'Mﬁ w mavbles in +the
P’Q“Jﬁ”DU”OL 77]4,# -ﬁo(f@MQr B ave 45 may es cwuz’ To‘Bm
‘,\CLS 15 ma 20g mMmov< ‘HIGVI J‘nvcm’b . ‘ ‘
d answer Hhe jfo_LQ,chfVL(.T ques*tfcﬂs:

Read <he above text
@) HOLO man mqb’bJQ_S TI'VQVTEI —Rald ?!

U How many marbles Tohn P g
UI> Tf 45 15 replaced S5 In Jhe above case,then
4/nd +he numbeyr of. maybles Tivanti Rave .

.1, based on which quema"El'c_ﬂ«()
<l .na,pS

&nc%b%, ,
e < o b ect USQJ For re_ce}w
Lz}:fﬁm#irii%%ﬂcﬁikffé[ped% Lelevision s?\v‘mls.ﬁA .giéqu
1y kmduceql or reflect from a Focal gjw{‘. A pavabo
L4 Jhe &r Hat mwltf Ffrom Ib(x): an Ly+ C . L
of e Vv es of a,b and C: are i,-;% and 2 vrespec IV@%,
Hhen give ancwer of Follow Vg 7ues4zloﬂ3 !
(> Find +he vad PO,

woypes bf petynomi ‘
(D T4 oL and &% 2 zat2, ey 14

p are zoyoed of pX) = X —
e vale of X FPTGE
(D If- one Zeyo ﬁjf Hhe Tupﬁm{-‘,c /:ef%ynor;lla—o 11—1'-‘(7(-!—2
ia 1, Hhen what 2 Fhe value of k
(v> Eind Ho quadratic Mﬁmom;d Shose zeypes ave 5 qul 3.
(3> A commar L befg conducted an Educa{";md) Oyaqn‘,gqf,'m
Where +he ban‘:lcﬁz};an%s ol be educators of Aﬁfgce)fem'(:‘
Subj ects . The numbex ¢f ,bc('r{‘}&" ants (n Hindd EVg,Ql's
and Mathematics ave &o, 84 and 108 reA{»&c_ﬂv}
(1o In cach vwoom the Same numbey ot ka%fc) qui".s
are +o be seated ,hence Max T mum numbe)//a partic &
an cepan
fhat car’ sccomodated 1y each voom ave K

A What 14 the minimum number
during the evewnt .
and 108 A .

(N> The LCM ef 6o, 84
Qv> 108 Can be ex}vre,ssd as a ana&ud (5ﬂ brimes,

£ind

of Yooms m7w Y@}



